
Parts Included
A. (2) Shelves G. (2) Shelf Clips
B. (1) Telescopic Post H. (1) Installation
C. (2) Universal Template

Mounting Plates I. (2) Beauty Rings
D. (2) Bearing Hubs J. (8) #8 x 5/8"

Screws
E. (2) Bearing Pins K. (1) Set Screw
F. (8) #8 x 1/2˝ Screws

Tools Required
• Phillips head Screwdriver
• Drill with 1/16” (1.5mm) bit for drilling

pilot holes
• Tape measure or ruler
• Pencil

Product Assemblies
WKS24ST-PLYWD
WKS28ST-PLYWD
WKS32ST-PLYWD

WOOD KIDNEY-SHAPED 
LAZY SUSANS
Installation Instructions

KNAPE & VOGT MANUFACTURING COMPANY

2700 Oak Industr ial  Dr.  NE,  Grand Rapids,  MI 49505
800.253.1561  •   616.459.3311  •   Fax 877.636.3290  •   www.kv.com

RN-271EFS   06/04
© 2004 Knape & Vogt Manufacturing Company.  All rights reserved.

Inspect all parts and read all instructions prior to beginning
assembly and installation.

Step 1 Use installation template to mark and drill 1/16˝ pilot
holes for Universal Mounting Plates (C) in top and bottom interior of
cabinet.
Step 2 Fasten each of the Universal Mounting Plates (C) with (4)
#8 x 1/2˝ Screws (F) using the slots so that future adjustment can
be made, 
if necessary.
Step 3 Insert Bearing Hubs (D) into the underside of each of the
Shelves (A).  Note that the keyway on the side of the Bearing Hub
must be aligned with the kidney cut-out on the Shelf. Attach by
aligning the mounting holes with the pilot holes and using (4) #8 x
5/8" screws for each Shelf.
Step 4 Slide Beauty Rings over neck of Shelves.
Step 5 Slide the Shelves onto the lower portion of the
Telescopic Post (B) from the bottom (slotted end).
Step 6 Place the assembly into the cabinet.  Align the bottom
of the Telescopic Post over the top of the bottom Universal
Mounting Plate making sure that the slot in the Post fits over the
lug in the Mounting Plate.  Push a Bearing Pin (E) through the slot
in the pole and the hole in the Mounting Plate.  Slide the Bottom
Shelf down onto the pin.
Step 7 Loosen the set screw that holds the upper portion of the
Telescopic Post enough to allow the upper portion to move.  Slide
the upper portion up onto the top Universal Mounting Plate so that
it is engaged securely.  Tighten the set screw to hold the upper
and lower portions of the post together securely.
Step 8 Insert second Bearing Pin into one of the Post's upper
holes to give desired shelf separation.  Slide Top Shelf down over
it. Push the Shelf Clip (G) into the post hole immediately above
each shelf. If cabinet is 
already installed.
Step 9 Check the alignment of the Shelves with the cabinet
door opening by rotating the Shelves so that the detents
(notches) on the Bearing Hubs engage the Bearing Pins to stop
the Shelves.  If the Universal Mounting Plates were installed
correctly using the template, the Shelves should be perfectly
aligned with the cabinet door opening.  Should additional
adjustment be needed, loosen the Screws holding the Mounting
Plates just enough to allow rotation of
the entire unit.  Rotate the unit until the
Shelves are in alignment with the
cabinet opening, and tighten the
Screws.  Add remaining #8 x 1/2˝
Screws to the round holes in the
Mounting Plates to complete the
installation.
Your installation is complete!

C. (2) Universal
Mounting Plates

B. Telescopic Post

A. (2) Shelves

D. (2) Bearing
Hubs

E. (2) Bearing
Pins

F. (8) #8 x 1/2˝
Screws

G. (2) Shelf Clip

steps 1 & 2

step 3 & 4

step 5

steps 6, 7 & 8

step 9

I. (2) Beauty Rings

28"�
& 32"

24"

Fro
nt o

f F
ace Fr

ame Front of Face Frame

KIDNEY-SHAPED
MOUNTING TEMPLATE

Beauty Ring

J. (8) #8 x 5/8"
Screws

K. Set Screw



INSTRUCCIONES DE
INSTALACIÓN
CHAROLA GIRATORIA EN FORMA DE RIÑÓN
DE MADERA

RN-271EFS   06/04

NOTICE DE MONTAGE
PLATEAUX TOURNANTS RÉNIFORMES EN BOIS

Inspeccione todas las piezas y lea todas las
instrucciones antes de comenzar con el armado y la
instalación.
Paso 1
Use la plantilla de instalación para marcar y taladrar
agujeros pilotos de 1.6mm para las placas de montaje
universales (C) en la parte superior e inferior del
interior del gabinete.
Paso 2
Sujete cada una de las placas de montaje universales
(C) con (4) tornillos #8 x 1.3cm (F) usando las ranuras de
manera que se pueda realizar ajustes en el futuro, de
ser necesario.
Paso 3
Introduzca los cubos de cojinetes (D) en la cara inferior
de cada estante (A). Fíjese que la escotadura en el lado
del cubo de cojinete debe alinearse con el corte en
forma de riñón en el estante. Conecte al alinear los
agujeros de montaje con los agujeros pilotos usando (4)
tornillos #8 x 1.6 cm. para cada estante.
Paso 4
Deslice las arandelas de protec de montaje. Empuje
una clavija de cojinete (E) a través de la ranura en el
poste y el agujero en la placa de montaje. Deslice el
estante inferior hacia abajo hasta que se encaje en la
clavija.
Paso 5
Deslice los estantes por encima de la porción inferior
del poste telescópico (B) comenzando desde el pie del
mismo (extremo acanalado).
Paso 6
Coloque el ensamblaje en el gabinete. Alineé la parte
inferior del poste telescópico por encima de la parte
superior de la placa de montaje universal inferior
asegurándose que la ranura en el poste se encaje por
encima del saliente en la placa de montaje. Empuje una
clavija de cojinete (E) a través de la ranura en el poste
y el agujero en la placa de montaje. Deslice el estante
inferior hacia abajo hasta que se encaje en la clavija.
Paso 7
Suelte el tornillo de fijación que sujeta la porción
superior del poste telescópico lo suficiente para
permitir que haya movimiento en esta porción.  Deslice
la porción superior hacia arriba a la placa de montaje
universal superior de manera que se enganche
firmemente. Apriete el tornillo de fijación para juntar
firmemente la porción superior con la inferior del poste.
Paso 8
Introduzca la segunda clavija de cojinete en uno de los
agujeros superiores del poste para dar la separación
deseada entre los estantes. Deslice el estante superior
hacia abajo hasta que quede por encima de la clavija.
Empuje el clip de estante (G) adentro del agujero del
poste arriba de cada estante. Si el gabinete ya está
instalado.
Paso 9
Verifique la alineación de los estantes con la abertura
de la puerta del gabinete al girar los estantes de
manera que las muescas de detención en los cubos de
cojinete se embraguen con las clavijas de cojinetes
para detener los estantes. Si las placas de montaje
universales fueron instaladas correctamente usando la
plantilla, los estantes deben estar perfectamente
alineados con la abertura de la puerta del gabinete. Si
es necesario realizar ajustes adicionales, suelte los
tornillos que sujetan la placa de montaje solo lo
suficiente para permitir que gire la unidad completa.
Gire la unidad hasta que los estantes estén en
alineación con la abertura del gabinete, y apriete los
tornillos. Agregue el resto de los tornillos #8 x 1.3cm a
los agujeros redondos en las placas de montaje para
completar la instalación. ¡Su instalación está
completa!

Inspectez toutes les pièces et lisez toutes les
instructions avant de procéder à l'assemblage et à
l'installation.
Étape 1
À l'aide du modèle d'installation, tracez
l'emplacement et percez des avant-trous de 1.6 mm
(1/16 in.) pour les plaques de montage universelles (C),
au sommet et à la base de l'armoire.
Étape 2
Attachez chaque plaque de montage universelle (C)
avec deux (4) vis #8 x 12.7 mm (1/2 in.) (F), en se
servant des fentes pour que des réglages ultérieurs
éventuels soient possibles.
Étape 3
Insérez les moyeux de roulement (D) dans la sous-
face de chaque plateau (A). Remarquez que la rainure
de clavette au côté du moyeu de roulement doit être
alignée avec l’encoche du plateau. Alignez les trous
de montage avec les avant-trous et fixez chaque
plateau à l’aide de quatre (4) vis #8 x 5/8 po (15.9 mm).
Étape 4
Faites coulisser les anneaux décoratifs par le col des
plateaux.
Étape 5
Faites coulisser les plateaux sur la partie inférieure de
l'axe télescopique (B) à partir du bas (extrémité
crénelée).
Étape 6
Placez l'assemblage dans l'armoire. Alignez la base
de l'axe télescopique avec la face extérieure de la
plaque de montage universelle inférieure en veillant à
ce que la fente de l'axe s'adapte bien au crampon de
la plaque de montage. Enfoncez une broche de
roulement (E) dans la fente de l'axe et dans le trou du
crampon de la plaque de montage. Faites glisser le
plateau inférieur de haut en bas sur la broche.
Étape 7
Desserrez la vis d'arrêt (qui retient la partie
supérieure de l'axe télescopique) suffisamment pour
permettre la mobilité de la partie supérieure. Faites
coulisser la partie supérieure vers le haut afin qu'elle
s'enclenche fermement dans la plaque de montage
universelle supérieure. Serrez la vis d'arrêt pour fixer
ensemble les parties inférieure et supérieure de l'axe.
Étape 8
Insérez une deuxième broche de roulement dans l'un
des trous supérieurs de l'axe pour obtenir la distance
souhaitée entre chaque plateau. Faites glisser le
plateau supérieur au dessus de la broche. Enfoncez
l'attache de plateau (G) dans le trou de l'axe situé au-
dessus de chaque plateau. Si l’armoire est déjà
installée.
Étape 9
Vérifiez l'alignement des plateaux avec l'ouverture de
la porte d'armoire en pivotant les plateaux de telle
façon que les crans d'arrêt (fentes) des moyeux de
roulement enclenchent les broches et arrêtent ainsi le
pivotement des plateaux. Si les plaques de montage
universelles ont été correctement installées
conformément au modèle, l'alignement des plateaux
avec l'ouverture de la porte d'armoire devrait être
parfait. Si un ajustement s'avérait nécessaire,
desserrez les vis de fixation des plaques de montage
suffisamment pour permettre le pivotement de toute
l'unité. Faites pivoter l'unité jusqu'à ce que les
plateaux soient alignés avec l'ouverture de l'armoire
et resserrez les vis. Achevez l'installation en vissant
les vis #8 x 12.7 mm (1/2 in.) restantes dans les trous
ronds des plaques de montage. L'installation est faite!

28"�
& 32"

24"

Piezas Incluidas
A. (2) Estantes
F. (8) Tornillos #8 x 1.3 cm
B. (1) Poste telescópico
G. (2) Clips para los estantes
C. (2) Placas de montaje universales
H. (1) Plantilla de instalación
D. (2) Cubos de cojinetes
I. (2) Arandelas de protección
E. (2) Clavijas de cojinete
J. (8) Tornillos #8 x 1.6 cm.
K. (1) Tornillo de fijación 
Herramientas necesarias
• Destornillador Phillips
• Taladro con broca de 1.5 mm para

taladrar agujeros pilotos
• Cinta métrica o regla
• Lápiz

Pièces incluses :
A. (2) Plateaux
B. (1) Axe télescopique
C. (2) Plaques de montage

universelles
D. (2) Moyeux de roulement
E. (2) Broches de roulement
F. (8) vis #8 x 1/2 po (12.7 mm)
G. (2) Attaches de plateau
H. (1) Modèle de montage
I. (2) Anneaux décoratifs
J. (8) Vis #8 x 5/8 po (15.9 mm)
K. (1) Vis de serrage
Outils nécessaires
• Tournevis cruciforme
• Perceuse avec mèche de 1.5 mm 

(1/16 in.) pour le perçage d'avant-
trous

• Mètre en ruban ou règle
• CrayonParte

 fro
ntal d

e la
 fa

chada del a
rm

azó
n

Deva
nt d

u cadre de l'a
rm

oire

PLANTILLA EN FORMA DE
RIÑÓN DE MONTAJE

MODÈLE DE MONTAGE DU
PLATEAUX TOURNANTS

RÉNIFORMES

C.

B.

A.

D.

E.

F.

G.

I.

J.

K.

Para el armado de
productos

Modèles
WKS24ST-PLYWD
WKS28ST-PLYWD
WKS32ST-PLYWD

Parte frontal de la fachada del armazón

Devant du cadre de l'armoire



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


